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2- Find the horizontal asymptote of
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3- Using the precise definition of limit, show that
lim (1+3x) =2.
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5- Show that
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6- Use limits to find the vertical asymptotes of the function
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7- Find the limit of
lim(x - [[ZJC]D , where [[x] = the largest integer that is less than or equal to x.
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8- Use Intermediate Value Theorem to show that sin x = x — 1 has a solution.
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9- Let{f) = 1+ Vx.
A (4

a) Use the deﬁmtlon of derivative to find f (x)
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b)Iff'(1) = 2—35 , find an-e,quation for the _iangent line to the curve
y = f(x) whenx = 1. '
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10- Referring to the graph given below, find the value of the following
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